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10th November  SSC CGL 2019 Pre. Reasoning Mega Quiz (B lavel) (2) (Solutions) 

 
S1. Ans.(d) 
Sol.  
L I F E   
12 + 9 + 6 + 5 = 32 × 4 = 125 
R U N 
18 + 21 + 14 = 53 × 3 = 159 
C L O U  D 
3 + 12 + 15 + 21 + 4 = 55 × 5 = 275 
 
S2. Ans.(a) 
Sol.  

4 6 9

√4 = 2 2 × 3 √9 = 3
 

√8 12 √18

2√2 2√2 × 3√2 3√2
 

 
S3. Ans.(d) 
Sol.  

 
 
S4. Ans.(c) 
Sol. All are divisible by 7 except (c). 
 
S5. Ans.(a) 
Sol.  
2 3 5
6 1 4

 

 
S6. Ans.(d) 
Sol.  
 
S7. Ans.(a) 
Sol.  
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S8. Ans.(d) 

Sol. a b c d d / a b c c d / a b b c d / a 

 

S9. Ans.(c) 

Sol.  

Series multiply by 1.2 

S10. Ans.(c) 

Sol.  

 
 

S11. Ans.(d) 

Sol. 7 × 2 + 9 = 23 

2 × 1 + 6 = 8 

 

S12. Ans.(a) 

Sol.  

 
11  —  18249 

1  —  1659 

2  —  3318 

 

S13. Ans.(c) 

Sol. 12 – 8 ÷ 12 × 9 + 3 

12 −
2

3
× 9 + 3 

12 – 6 + 3 

= 9 

 

S14. Ans.(b) 

Sol.  

 

S15. Ans.(a) 

Sol. First is the unit to measure the second. 

 

S16. Ans.(c) 

Sol.  

    

C E G I

2 2 2 2

A G E K

 −  +  −  +

D F H J

2 2 2 2

B H F L

 −  +  −  +
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S17. Ans.(c) 
Sol.  

11
1

9
=

100

9
×

1

100
=

1

9
 

12
1

2
 =  

25

2
×

1

100
=

1

8
 

14
2

7
=

100

7
×

1

100
=

1

7
 

16
2

3
=

50

3
×

1

100
=

1

6
 

20

100
=

1

5
 

 
S18. Ans.(b) 
Sol. All except (b) are works of Shakespeare. 
 
S19. Ans.(b) 
Sol. First, we saw seed, than it becomes plant, then tree, then wood is cut then table is made. 
 
S20. Ans.(a) 
Sol. City comes under state and state comes under country. 
 
S21. Ans.(d) 
Sol. Gender of Ramlal is  not mention in question statement.  

 
 
S22. Ans.(a) 
Sol.  
 
S23. Ans.(c) 
Sol. 

 
 
S24. Ans.(d) 

  
all have same logic except (d) 
 
S25. Ans.(b) 
Sol. 
All except (b) are young ones of animals.  
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